Jason Hare GREEK AN INTENSIVE COURSE [1]
(Hansen & Quinn)
Self-Correcting Examination 1B
82-83
1. 1. 6dois: The lexical form is 63dg, which has its accent on the ultima. Since nouns retain their
accent’s position, it is ultima — and the long diphthong takes the circumflex instead of the
acute.
2. ypadopev: Verbal accents are recessive. The ultima is short, allowing it to remain on the
antepenult.
3. ofjuor: The lexical form is 0fjuog. The noun’s accent is retained. The short diphthong in the
ultima and long vowel in the penult require a circumflex.
4. madedoar: In the aorist optative, the final diphthong is long. It pulls the recessive accent to
the penult and makes it acute.
5. obudv: The lexical form is oixia. It is a feminine noun of the first declension, and all such
nouns take the circumflex on the ultima in the genitive plural.
IL 1. 7év dhdy 6.  Oboeav / Bboatey
2. 7olg BiPAiorg 7.  émaidevov
3. mbhepov 8.  duldén
4. alvijoot 9.  xeledoelg
5. & &dehde 10.  é\boapev
III.  PRINCIPLE PARTS madw, Tadow, Enauaa,
mEmavxa, mémavyal, eravfyy
Present Indicative Active TavEL
Imperfect Indicative Active gmave(v)
Future Indicative Active Taloel
Aorist Indicative Active gmavae(v)
Perfect Indicative Active meEmauxe(v)
Pluperfect Indicative Active émemavxel
Present Subjunctive Active maLy
Aorist Subjunctive Active oy
Present Optative Active mavot
Aorist Optative Active mavoal
Present Infinitive Active TaVEWY
Aorist Infinitive Active maloal
Perfect Infinitive Active TMETaUXEVaL



Jason Hare GREEK AN INTENSIVE COURSE (2]
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IV. 1. Willyou (p.) destroy the soul of the democracy so that the people might stop the war?
(a) madowawy is aorist subjunctive active third-person plural. It is part of a primary sequence
purpose clause using iva. The main verb (AUcete) is in the future indicative active.
2. They have sent the six foreigners [who were] on the island into the market place so that they
might order the people to break up the assembly.
(a) ToUg €€ &évoug Tols év Tfj vijow el dyopay méubouaty 8mws TV Ofjpov THY Exxdnaiav Aboat
XEAEVTWOTY.
(b) The word éxxAnciav is in the accusative as the direct object of the infinitive Aloat.
3. I'wrote concerning war so that they might keep the peace with virtue.
(a) duldEelay is aorist optative active, part of a secondary sequence initiated by the aorist
indicative active éypaa, using &g as the subordinating particle.
(b) éperij is in the dative as a dative of instrument. It is intended to tell us in what way or by
what means the people were to keep the peace.
4. Since the goddess was protecting the island in deed so that they might offer sacrifices, we
ordered the people to sacrifice.
5. He had sent books to Homer’s house so that he might also educate the council of the island.

mepl THg &v Tf 606 wdyns ypdel 8mwg ToV dfjrov xal Abyw xal Epyw madelowoty.

(Tepl THg &v TIj 606 wdyns ypaer tva Tov dfjuov xal Adyw xal Epyw Tadebwaty.)



